Vo,

Zone 1

Zone 1 +/-19.47
Zone 2 +/-29.96

Zona 1

— Zona Z

Zonal

Zone 3 +/-41.63

PROFESSIONAL SERVICES BY
DRISCOLL ENGINEERING,INC.
PO BOX 357577,
GAINESVILLE, FL 32635
PH (352)-331-1513
CA B690

-ELANS AND SPECIFICATIONS

The plans and specifications presented hereln are applicable only for the anticlpated
consfruction al the locations shown. If construction plans change, the Deslgn Professional
should be nolified so the plans and specifications can be re-evaluated, The Deslgn

1-All construction shall comply with Florida Building Code 7th edition 2020.

ULTIMATE WIND SPEED: SEE TABLE THIS SHEET
NOMINAL WIND SPEED: SEE TABLE THIS SHEET

WIND EXPOSURE CATEGORY: SEE TABLE THIS SHEET
RISK CATEGORY |

FL Reg #43922

N Y

\»lvaa_muhﬁ__ﬁoj be azm: the %_ouanﬁ_ﬂm. _ouasm% WB_ u_mzm and specifications lo see
-]
WIND PRESSURE ON COMPONENTS AND CLADDING an :haﬂ__wam_,_nﬁm_auh_mm%.mﬁﬂwﬂmugﬁaﬁ%ﬂﬂﬂﬁﬁmﬁuﬁm INTERNAL PRESSURE COEFFICIENT Gepi= +/- 0.0
t tained herein, ha ed i rd 5
J m i el e s b g et mww__mm hwmwwumm M.mmw u_wummo CHAPTER 16, INCLUDING ASCE 7-16 LOAD CALCULATIONS
expressed, ( =12.
ULTIMATE & NOMINAL AUO | R— ROOF DEAD LOAD = 2.5 PSF N
<<_Z D SP mm_uw rb It Is underslo nﬂ% gdhal the Design Professional’s Basle Services under this MIN SOIL BEARING 2000 PSF ..u”f/
Agregment do n de pfofo¢t obgsrvalion or review of the Conlractor’s performance or MAX TRUSS BEARING LOAD EACH END 5200LB >4
ULTIMATE NOMIN ar Jm:”...“»ﬂ:& m.u. u 95 :u_u~=m=n_ _“._.w_ such ms_n“w_ﬁu_ be uainmh,wu‘ the MAX TRUSS UPLIFT @ POST 3400LBS = nmw
A \J cllon obas and walves any claims agalnst the - =9
120 93 R Vu anfyay caninsolad thersta, 1. Wood framing and fasteners to meet NDS-2018 requirements. . ==
== == o 2. Fastener requirements: (1) All nails are Common galvanized; (2) all bolts are to be galvanized steel and include™—
| ,
ﬂs .._wb‘\ i a_dw_Wm, N m from anjloss; _he oy _Hmahnﬁﬂ%__woa -nuts and washers; and (3) all other hardware (Simpson, etc.) is to be installed according to manufacturer's e )
140 108V & 58, glsing or resull ance of such specifications and recommendations. Nalling (size and number) shall satisfy Tables 2306.2.(1), 2306.3.(1) and % .
150 ~e) /Y oy u:nh_#an g 2306.3.(#) FBC unless otherwise indicated. Note: fasteners exposed to the weather are to be treated for weathe i
Sk fa \ U ) Roang ‘ resistance and compatible with the type of pressure treated wood used (connectors, nails, bolts, nuts and Emmwmaf\oo\ m,w,.w Z 7( S
Vs 4 \ \ _O //.
160 124 L7 Concrete Construction Notes ‘0 m ;//
\ w& 1. Concrete work shall conform to "Building Code Requirements for Reinforced Concrete" (ACI-318) and I m rr e
- "Specifications for Structural Concrete” (ACI-301), Latest Edition. ] A
é_ZU.._/meuomcxm CATEGORY ﬁ Co mix shall conform to the following specifications. All concrete mixes shall contain a s W m .m
M B \ _ c _ D S w @ ng admixture conforming to ASTM C-494. Air-entraining admixture shall confarm to ASTM C-260. = n oA
; aClia % co _ _H M
: ..w”,m.fﬁswwﬂn“ ..“__“_w“,._.;.._.“ﬁ..w_w. ﬁ%w ate Comprasst ngfh @ 28 days 3,000 PS| . | m l en
beantractors at any level o cattajn a likg Féquirement. Fallure by'ji{e Cila R um ge 4" - 1" |
mc ILD _ _Z Q D _ —szm _ Oz m ”M_."aa.” wwhu“mwﬂhmﬂ mﬂ,__unnm_._.m cld z.w :%m:. Wwiﬂﬁ_o& I, shall reli gate Sizi 1" m W %
o f &5 abp
D-1 T s e s e S e ™ ) /| Enieida A vy % 0E §
BARN _ 3 ubic Fpot = 150 # m oy m
' " f W RIFICA EXISTING CONDITIC — b
EUMI (FT) 6"X 6" POST mN\A.mimLOw._. Jomriuches e vaodsing A an il buldinglsagres that ﬁ hall/be cured \& minimu days. If forms for vertical surfaces are removed prior to the end of en i A
q mb S 39'-1" 38'-8" ] et ng periddyspray gifatas with liq mbi ing compound.
38 - L An Bl an destroying mﬁiﬂnﬁuwpwn_wooﬁwwﬁ%ﬁ”whﬁwhm_ﬂmﬂnmnhﬁmﬂwc M_“H_M._th.s 2 .wa’:m_ shall _u%.a!_.&. Al AB15, Gra sl). Lap continuous bars for tension lap splice
371 36'-8 the fuest extnt parmited E_msm.o Indemnify and hold the Design Professional harmiess C1318, Uhless otherwise noted Pravide
36 35-1" 34'-8" qu_u_ﬂm yor ._woaaoan_ s.uw_qoﬂuwhusmﬂqﬂ_mﬂﬂuﬂwﬂ__ﬂwﬂﬁwﬁﬂ%mw.nw_wwqh__whws bt e and sgacihga h w_._noam_ wall el over for concrete reinforcing steel shall be
" 1 an rov I , llabllities, 7 il L i
34 33'-1 32'-8 trbutabis to the ”bmﬂu_m:__ﬂwMM%ﬂﬂwﬁwﬂﬂﬁ_%ﬂﬂﬁnwhaaﬁwqﬂmﬂﬂ 5. Welded wire fabric {NVWFy sRall confofmito AS Lap shieets esh s and wire tie adjacent sheets
32 30'-1" 30'-8" together securely. Cut reinforcemenl/at | joints.
30 3 28'-8 6. All slabs on grade shal jon_or control joints not to exceed ~Unless otherwise noted.
29'-1" -8" a
qn 1 an (0] H TOR SHALL Y DIMENSI 3
28 27'1 __26"-8' OF THIS STRUDTURE BEEORE %ﬂ ZONSTRUCTION m_ mm
Nm Nm-ld n Mh._lmz B rd L /I\\@ [ mv w m
24 531" 298" POST SPACING POST FOOTING mﬁmﬁ 3 4|5 mw
R 0O —
NN N\_—l.ﬂ_. MO_lm: UIN Aﬂ.._-u _\..W.U E— m mw
MO Awylﬂ_u .—m_lm__ m AO \@ " L /&Q m " mm
18 171" 16'-8" F-1 18" DIA. X 48" DEEP ALID UNLESS SIGNED & SEALED M m
= Ry T T - B ICHAEL E DRISCOLL P.E. FL 43922 =
16 15'-1" 14'-8" POST SIZE (2D 24" DIA. X 48" DEEP AS ENGINEER OF RECORD m s 8
AN _Qn n
14 131 12-8 2|13 mm_
1141 108 — — CONCRETE INFORMATION 2119 52
6"X 6" 8"x 8" 10" X 10" ROOF PITCH | 4¥THICK 3000 PSI| CONCRETE SLAB =) L
R |~ Wi X8 1.4X 1.4 WWF OR FIBERMESH 4 &
] m a2 )| ane 512 | 6M2 || | THICKENED EDGE
POST HEIGHT METAL ROOF ENCLOSED WALLS —— 7 12"W X 12" D W/ 2 #5 BAR CONT
SIZECIRCLEDORILESS (D3) |OTHER | [y a\_v 25 BA THESE SIGNED & SEALED SHEETS WA AT DW S BAREONE
10 | 122 1 a& 16 NI @ ARE FOR THE SITE SPECIFIC LOCATION AS
: ; SHOWN ON THIS PLAN SET
L 555 R5 LA NO COPIES ARE ALLOWED Michael E Driscoll PE

ono
s,
" o'

Jo s



(]
(o
= K
) N& ﬁ ‘28 3
No. m_.z%wzﬁm 2 o m
KSI
mﬁ \\_Asjmjv? m ﬂs <t
Mi| ColarTie | ABTM 572, QAHE
M2 | Collar Tie ASTM 572 7/~ N iz g
M3 | Top Chord ASTM 572 (( //, £ & W &
M4 Bottom Chord | ASTM 572 2/ /A Y \ ? i oo.bcmm m o m
M5 | Center verticall ASTM 572 YN L2 xare () [, U @ S . mog Shoy,, mE B
M6 | End Vertical | ASTM 572 T 2% 2" 316" = [huss span overaD (e ) 3"x 2" X 48" " Clarjg,
M7 | Bearing angle | ASTM 572 L 2% 2"0{ 318" N “| truss sffamover 30'Use L/3" X" x 3/8"
M8 | Inside vertical [ ASTM 572 L1-172" 4472743178 = C
M9 | Diagonal web | ASTM 572 L1-1/2"x A-A\u\xﬂw&‘@ ﬁ R SGHEDULE
%" #2 8 in fo 6"x 6" a, cli -#9 x 1-1/4" screws
STEEL TRUSS CROSS SECTION E\\v @ e oa@% w‘ :@w_ﬁﬁ ,
'ood post to -2 ia thru bolf yw shers
Postdo concrete mmm ) ; m
NOTES: 2-1/2" DIA. CARRIA |
== (SIS BOLTS NUT & WASHER FY P . TR m &
1-MATERIALS SHALL CONFORM TO STEEL ASTM 572. STEEL TRUSS . M Y .m,m
2- ALL STEEL SHALL BE 50ksi IN ACCORD WITH CURRENT AISC MANUAL. : : ’ 2llG 22
3- WELDING ELECTRODES TYPE E70XX : N N, TRUSS DETAILS wllz §8
4- ALL WELDING SHALL BE IN ACCORD WITH CURRENT AWS REQUIREMENTS. . % m m ER
5-ALL WELDING SHALL BE DONE BY A CERTIFIED WELDER. Z
6-BOLTS SHALL BE ASTM A325, w/ NUTS & WASHERS. (TYP) F@ NOT VALID UNLESS SIGNED & SEALED z Z
7- WELD STRENGTH 70 KSI MIN AN — BY MICHAEL E DRISCOLL P.E. FL 43922 i M .
= . - ' . o AS ENGINEER OF RECORD (=]
8- ALL POST SHALL BE #2 DENSE PRESSURE TREATED GROUND CONTACT. | mﬂ
9- PRIMING & PAINTING SHALL BE DONE BY TRUSS MANUFACTURER. allo =3
10- MIN EDGE DISTANCE FOR BOLTS HOLES SHALL BE 3/4" MIN Q00 POST z||l0 a3
11-MAX TRUSS SPACING SHALL NOT EXCEED 12'-0" UNO. ATYE) \m.mw?/mm
12-THE DESIGNER DISCLAMS ANY RESPONSIBILITY FOR DAMAGES AS A RESULT OF
POOR WORKMANSHIP, OR IMPROPER USE, AND ACCEPTS NO RESPONSIBILTY OR TRUSS TO POST DETAIL

EXERCISES NO CONTROL WITH REGUARD TO FABRICATION, HANDLING,AND INSTALLATION

OF TRUSSES.

B

=

PLAN VIEW

4

THESE SIGNED & SEALED SHEETS

ARE FOR THE SITE SPECIFIC LOCATION AS
SHOWN ON THIS PLAN SET

Michael E Driscoll PE
NO COPIES ARE ALLOWED FL Reg # 43922

\




WIND PRESSURE ON COMPONENTS AND CLADDING

ULTIMATE & ZO_,,\:Z.P_IAA

K]
@ 3 PROFESSIONAL SERVICES BY
_ = DRISCOLL ENGINEERING,INC.
PO BOX 357577,

Zone 1 +/-19.47 GAINESVILLE, FL 32635

Zone 2 +-29.96 PH (352)-331-1513

Zone 3 +/-41.63 CA 8890
Zona 4 PLANS AND SPECIFICATIONS

The plans and spacifications presented hersin are appilcable only for the anticlpated

Ton T canstruction at the locations shown. If construction plans change, the Design Professional
YT should be notified so the plans and specifications can be re-evaluated. The Design

Professional should be given the opportunlly to review final plans and specifications to sea
| ~ifthe Intent of the plans and specifications has been followed and/or If suppl |
aam_._n&_agu are needed. The Design Professional warrants that the uﬁam and

lions contalned hereln, have been prepared In e with
professional m:n_gwmn.,_a tice. Mo other
expressed.
.uo_u._uom_p._.m PROTECTION

ara implied or

<<__Z_U m_UmmU_m It Is understo ghal the Design Professional’s Basie Services under this
b her construc _nw 5 ﬂﬂ_“_ ﬂhhww_m-nﬂwwﬁﬂwuoﬁﬂ_mwﬁ%w%%a mﬂm_.w__..no i
C _l._u_ §>-—.m ZO—S _ & Cl M _m_.= mww..ﬂ.__..@w __u.___ r Interpretation of the no:“mﬁaam_uoh_zhzm
m:aﬂ._w_nﬂﬂumwﬁ M__._m___._._wo against the
120__ ey
ﬁ\ 130 P u_d\_W& ﬂzu Ws_. to Indemnify and hold
_140 108\ Y i ab%
150 N/ ?u%: “ @m‘
155 120 7 74D A m_ w,_ﬁ.ﬁ_ga
160 124 Y

WIND EXPOSURE CATEGORY

e

B

|

D

.__._fn.q she will Impo

//“ A ,c::““:"/

PARTIALLY ENCLOSED POLE STORAGE STRUCTURE

1-All construction shall comply with Florida Building Code 7th edition 2020.

ULTIMATE WIND SPEED: SEE TABLE THIS SHEET
NOMINAL WIND SPEED: SEE TABLE THIS SHEET

WIND EXPOSURE CATEGORY: SEE TABLE THIS SHEET

RISK CATEGORY |

INTERNAL PRESSURE COEFFICIENT Gepi= +/- 0.0

DESIGN PRESSURE PER FBC CHAPTER 16, INCLUDING ASCE 7-16 LOAD CALCULATIONS

ROOF LIVE LOAD =12.5 PSF
ROOF DEAD LOAD = 2.5 PSF

MIN SOIL BEARING 2000 PSF
MAX TRUSS BEARING LOAD EACH END 5200LB

N
N
D
<
MAX TRUSS UPLIFT @ POST 3400LBS = N
> =3
1. Wood framing and fasteners to meet NDS-2018 requirements. ==
2. Fastener requirements: (1) All nails are Common galvanized; (2) all bolts are to be galvanized steel and include™
-nuts and washers; and (3) all other hardware (Simpson, etc.) is to be installed according to manufacturer's T
specifications and recommendations. Nailing (size and number) shall satisfy Tables 2306.2.(1), 2306.3.(1) and - A,
2306,3.(#) FBC unless otherwlse indicated. Note: fasteners exposed to the weather are to be treated for weather
résistance and compatible with the type of pressure treated wood used (connectors, nails, bolts, nuts and Emm_._ma“\\

Concrete Construction Notes

+, Concrete work shall conform to "Building Code Requirements for Reinforced Concrete” (ACI-318) and
"Specifications for Structural Concrete” (ACI-301), Latest Edition.
. Co mix shall conform fo the following specifications. All concrete mixes shall contain a
ing admixture conforming to ASTM C-494. Air-entraining admixture shall conform to ASTM C-260.

HARTZOG

310 SW DEER RU'N
FT WHITE, FL 32038

'\
2

DB22-453 40x34x14

on all col %/ot her@lien } Act-and e 28 days 3,000 PSI )
BUILDING DIVENSIONS chr %ﬁ ,wﬁ:wnﬁww oo |
m>xz D-1 Design vaﬁmm_oahr_w_w _H_._M %MMW« ﬂ__,dq”n__.suma_.:u.- : s aboye 5%%:3 such M,U @ ._M%Mm
WIDTH (FT) 6"X 6" POST 8"X 8" POST Inasmuch as the TG, _5&2 rehabilitation of an 2xisiikg bulld s that : _.Bm for vertical surfaces are removed prior to the end of
4 391" Qm.(% o may not be veriflable EFNM”“MFW:&”WH%_. H_._ of a%:M”__ﬁ”wB m iq :.._qu ng compound. . .
38 - 371" aaLan destroylng otherwise adequate or serviceable partlons of the bullding, tiva Client agrees, to >mdm Gra i). Lap continuous bars for tension lap splice
N ." 36'-8 _.MM fullast %ﬁﬂr_.._*_uﬂm.__sen by law, to _ﬂn_ua:_? and held the Deslgn Professlonal harmless
36 354" 345" e o ol ma%_ e oyt for concree renforing stalshll b
34 33'-1" 32'-8" et o tha sl gllg aqf__qu o ol _u.uwm_“_g%ﬂw_ ; J A o Lap sheets ces and wire tie adjacent sheets
32 30'-1" 30'-8" together securely. Cut 2 rel ._.oamsm at :gam
30 T 288" 6. All slabs on grade shalfHave ¢g o ar control joints not to exceed less otherwise noted.
_.. " _| " ow @q TOR SHALL DIMENSI
MM WM -H__ NM-m RUD .mm@m@mm% ZONSTRUC
1_qn N —tm: T =11
5 T — POST SPACING POST FOOTING m_NmQ %
NN N._ _l.d " Mo.lm: DIN A_u..._uv %
ND ._ Q_lk_ 1) ._ mﬂm: e - n "
8 1 e e - Lo R
AL T " " I
16 151" 14'-8" POST SIZE k=25 24" DIA. X 48" DEEP N EACEa o B oD
14 134" ‘_M_..W.. -
12 141" 10'-8" CONCRETE INFORMATION
"X 6" @...x 8" 10" X 10" ROOF PITCH _ 27THICK 3000 uwﬁmwoﬂmwm mm_,_mmm:
W66 1.4x 14 R FIBE
- a2 )| 412 5/12 6/12 THICKENED EDGE
POST HEIGHT METAL ROOF Wi ~#~ 12" WX 12" D W/ 2 #5 BAR CONT
SIZE CIRCLED OR LESS (D-3) | OTHER \N@\OM’!‘ ] 29 GA ENCLOSED WALLS THESE SIGNED & SEALED SHEETS 12" W X 20" D W/ 2 #5 BAR CONT
w [ () o \ s ok T
555 RS NO COPIES ARE ALLOWED Michael E Driscoll PE

FL Reg #43922

S\ DRISCOLL ENGINEERING,INC.

CONSULTING ENGINEERS

CA 8630

PH (362) 331-1513
FX. (352) 5053266

oY




QY A
| %gyﬂv@\\

M1 | Collar Tie ABTM 572/,
| M2 | Collar Tie_ ASTM 572 //  ~|  C%2"%3

M3 | TopChord | ASTM572 ([ 7/ /N0 m._@é&wmw @@

M4 | Bottom Chord | ASTM 572 = /A ) 2% 2" x3/18" /7~
M5 | Center verticall ASTM 572 VI A2 x a3 ()

-Q

M6 | End Vertical | ASTM 572 QW2 xate )
M7 | Bearing angle | ASTM 572 L 2% 2" 318" N * truss sf@anover 30'Use,,

¥

STEEL TRUSS CROSS SECTION

NOTES:

1-MATERIALS SHALL CONFORM TO STEEL ASTM 572.

2- ALL STEEL SHALL BE 50ksi IN ACCORD WITH CURRENT AISC MANUAL.

3- WELDING ELECTRODES TYPE E70XX

4- ALL WELDING SHALL BE IN ACCORD WITH CURRENT AWS REQUIREMENTS.

5-ALL WELDING SHALL BE DONE BY A CERTIFIED WELDER.

6-BOLTS SHALL BE ASTM A325. w/ NUTS & WASHERS. (TYP)

7- WELD STRENGTH 70 KSI MIN. - :

8- ALL POST SHALL BE #2 DENSE PRESSURE TREATED GROUND CONTACT.

9- PRIMING & PAINTING SHALL BE DONE BY TRUSS MANUFACTURER.

10- MIN EDGE DISTANCE FOR BOLTS HOLES SHALL BE 3/4" MIN

11-MAX TRUSS SPACING SHALL NOT EXCEED 12'-0" UNO.

12-THE DESIGNER DISCLAMS ANY RESPONSIBILITY FOR DAMAGES AS A RESULT OF
POOR WORKMANSHIP, OR IMPROPER USE, AND ACCEPTS NO RESPONSIBILTY OR

EXERCISES NO CONTROL WITH REGUARD TO FABRICATION, HANDLING,AND INSTALLATION
OF TRUSSES.

AN
/tryss span overadl (e 1) 3"x m.ﬁ%@@
L/3"XR" x 3/8"

M8 | Inside vertical | ASTM 572 L1-1/2" 44724 |3/76" m)ﬂ
M9 | Diagonal web | ASTM 572 L1-1/ __x.?:ma\xﬂ%m @

J

TRUSS DETAILS

00D POST
(TYP)

TRUSS TO POST DETAIL

PLAN VIEW

THESE SIGNED & SEALED SHEETS

ARE FOR THE SITE SPECIFIC LOCATION AS

SHOWN ON THIS PLAN SET
NO COPIES ARE ALLOWED

NOT VALID UNLESS SIGNED & SEALED
BY MICHAEL E DRISCOLL P.E. FL 43922
AS ENGINEER OF RECORD

Michael E Driscoll PE
FL Reg # 43922

HARTZOG

310 SW DEER RUN DR

FT WHITE, FL 32038

DB22-453 40x8ix14

DRISCOLL ENGINEERING,INC.

™

CONSULTING ENGINEERS

| |
VL

CA 8680

FX. (352) 505-3366

PH (352) 331-1513

PO BOX 357577 |
GAINESVILLE, FL. 32606




O

\ > Drip edge attach /
| 2"'x 6" #2 syp in accord w/ mfr specifications —
120' MAX | purlins @ 24" max spacing . N 2"x 6" #2 syp i #
_|| 12' MAX SPACING _ = 1 purlins attach to angle
! T Ao o el Lﬁéwao-axin__ weons [¢ 3 OF 4
; @_ \\ 1 a4/ m pefe J |
W \ i 14 Ga v:q__:l_ _
: connector Truss details
o @ (see sheet 3 )
W
5z
00
%2 C post 36" +/- below |\ " 2- 2°X 6" #2 SYP 45 ATTACH TO POST &
= m roof (ty z PURLIN W/ 5 -15450 SCREWS OR EQUAL
g p)
g0
GABLE END POST
G EEND PO SEE METAL ROOFING
TABLE SHEET 1
2° 6" #2 SYP PURLINS
@ 24" MAX SPACING
i o
2. 1/2" DIA. CARRAGE BOLTS — &= <+ &
NUT & WASHERS Ml TR e o«
TRUSS DETAILS » W 8 =
SEE SHEET 3 2 Q =
: ﬁ gE &
Elc GRS
o iy SAE @
£le ] N
2 3E W =E
ee roof pitch . a® . A2 MM
sheet 1 \li\rh\\\\__— %m See post size m m L an}
See metal q \‘\‘\‘\"\b;: L2 table sheet 1 ——{_ n B (@)
roof ga. i »\- =7
sheet 1 L= @
A .
2- 1/2" dia. carriage thru bolts |\ fo"0" max spacing Truss detalls 9 %
nut & washer to match (see sheet3) » @ % P N
b n ;
1 O Js
See post height AT : = |F4 )
table D-3 sheet 1 @ @ ol mw
b £z =
@ Z2ll= 88
See bullding dimension A.l 4 812 58
WabIE Gimirsions D-1 #5 X 12" BARS CENTER WAY 2 Z|u xx
_"om 18" DIA HOLES USE/A2 BARS . : m m
N FOR 24" DIA HOLES USE'18" P _ " “
@ g b p—p s L m
! ]|
See post footing 4 r ol mq._
80# BAG SACRETE MIN. ||_‘ -
table sheet 1 N 11 OR24 SEALE THIGK _ SEE POST FOOTING @ll5 £4
ol " SORGRRTE AR \____ S7ETABLE SheeT 4 2|0 82
END ELEVATION - oR B%
NTS POST FOOTING TO TRUSS DETAIL 1 \ﬂ% 3
Michael E Driscoll PE
FL Reg # 43922 \




-

2"X 4" #2 SYP 3-1/2° VERTICAL
ATTACH ENDS TO EACH POST
Wi 2-#10 X 3-1/2" SCREWS (TYP)

27X 8" #2 SYP HORIZONAL @ 48" ATTACHTO

METAL SIDIING SEE
—BUILDING SCHEDULE

POST W/ 4- #10 X 4" TOE SCREWS:
ATTACH 2"X 4" TO 2°X 6" W/ SIMPSON

W/ #10 X 3-1/2" SCREWS @ EACH END
AND 168" MAX SPACING @ DOOR HEADER

2"X 6" #2 S8YP HORIZONAL @ 48" ATTACHTO
POST W/ 4- #10 X 4" TOE SCREWS.

ATTACH 2°X 4" TO 2"X 8" W/ SIMPSON

Wi #10 X 3-1/2" SCREWS @ EACH END

AND 18" MAX SPACING —

48"

MAX HEIGHT

PENIN
&

2"X 6" #2 SYP HORIZONALS ARE REQUIRED FOR SPANS
THAT EXCEED 80"

2'X 4" #2 SYP 3-1/2" VERTICAL:
ATTACH ENDS TO EACH POST
W/ 2-#10 X 3-1/2" SCREWS (TYP)

2°X 6" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4- #10 X 4" TOE SCREWS:

A sPAciNG

TYPICAL MAN DOOR
OPENING DETAIL
* USE COATED SCREWS FOR EXTERIQRAISFoiNG SEE

ATTACH 2"X 4" TO 2"X 6" W/ SIMPSON
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING @ DOOR HEADER

2"X 8" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4- #10 X 4" TOE SCREWS.

ATTACH 2"X 4" TO 2"X 6" W/ SIMPSON
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING -

48"

24"

THAT EXCEED 8'-0"

o

2"X 6" #2 SYP HORIZONALS ARE REQUIRED FOR SPANS

i

U

——BUILDING SCHEDULE

1" MIN
CLEARANCE TO SOIL

160" MAX HEIGHT

ATTACH 2'X 4" TO 2°X 6" W/ SIMPSON
#10 X 3-1/2" SCREWS @ EACH END
16" MAX SPACING

2°X 4" #2 SYP 3-1/2" VERTICAL:
ATTACH ENDS TO EACH POST
Wi 2-#10 X 3-1/2" SCREWS (TYP)

GARAGE DOOR HEADER 2-2°X 6" #2 SYP FLAT
ATTACH TO POST W/ 4- #10 X 4" TOE SCREWS.
1- 2"X 6" #2 SYP VERTICAL ATTACH TO POST W/ 6 #10 X 3-1/2°

SCREWS ATTACH FLAT & VERTICAL TOGETHER
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING @ DOOR HEADER

2°X 6" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4- #10 X 4" TOE SCREWS.

ATTACH 2'X 4" TO 2°X 8" W/ SIMPSON
Wi #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING

2'X 4" #2 SYP 3-1/2" VERTICAL
ATTACH ENDS TO EACH POST
Wi 2-#10 X 3-1/2* SCREWS (TYP) g

2"X 8" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4- #10 X 4" TOE SCREWS.

&m’
2

ATTACH TO POST W/ 4-#10 X 2" -ﬂ. M

OPENING

1- 2"X 6" #2 SYP VERTICAL ATTACH QP uh\.,f
SCREWS ATTACH FLAT & VERTICAL TO 7 ER
Wi #10 X 3-1/2° SCREWS @ EACH END

AND 16" MAX SPACING @ DOOR HEADER

2"X 6" #2 SYP HORIZONAL @ 48" ATTACHTO
POST W/ 4- #10 X 4" TOE SCREWS.
ATTACH 2'X 4" TO 2°X 6" W/ SIMPSON
W/ #10 X 3-1/2" SCREWS @ EACH END
AND 16" MAX SPACING

2°X 4" #2 SYP 3-1/2" VERTICAL
ATTACH ENDS TO EACH POST
Wi 2- #10 X 3-1/2" SCREWS (TYP) :

2°X 6" #2 SYP HORIZONAL @ 48" ATTACH TO
POST W/ 4- #10 X 4" TOE SCREWS.

ATTACH 2°X 4" TO 2"X 6" W/ SIMPSON

W/ #10 X 3-1/2" SCREWS @ EACH END

AND 16" MAX SPACING ? =

2'X 6" #2 SYP HORIZONALS ARE REQUIRED FOR SPANS
THAT EXCEED 8'-0"

OPENING

METAL SIDIING SEE

BUILDING SCHEDULE

ENCLOSED
WALL DETAILS

: |
| 40F4

i
¥
160" MAX HEIGHT

-

B
2

\.
&

POST SIZE & FOOTING MATCHES
TRUSS BEARING POSTS

DOOR DESIGN & SUPPORT
CONNECTION TO POST ONLY
BY DOOR MFR

1" MIN
CLEARANCE TO SOIL

METAL SIDIING SEE
BUILDING SCHEDULE

1" MIN
CLEARANCE TO SOIL

POST SIZE & FOOTING MATCHES
TRUSS BEARING POSTS

DOOR DESIGN & SUPPORT

* USE COATED SCREWS FOR EXTERIOR USE

6"X 6" PT DOOR OR WINDOW POST TO HEADER
18" DIA. X 42" CONCRETE FOOTING
OR SIMPSON ABUE6 TO CONCRETE SLAB

THESE SIGNED & SEALED SHEETS

ARE FOR THE SITE SPECIFIC LOCATION AS

SHOWN ON THIS PLAN SET
NO COPIES ARE ALLOWED

CAL

GARAGE DOOR O
* USE COATED SCREWS FOR EXTERIOR USE

us G WA

G DET

CONNECTION TO POST ONLY
BY DOOR MFR

DOOR & WINDOW LOCATION
BY OWNER/ BUILDER

Michael E Driscoll PE
FL Reg # 43922

Wi,

\ g
/V/// \ Vuﬁuon -@..&W%ﬁ.ﬁ \\\\\
i //A\ 2
aap* <
=4 =

i

o0
S
&
=
m
-
i

6-14-22

310 SW DEER RUN DR
40x81x14

HARTZOG

DB22-453

RS
CA 8690

U
Zz
gl 2
mmmw
Z(|s 8
EG}w,
wl(|z 88
Z|W z»
ollu *
e
a5 8
ai5
OSWH_
Ul|1Z i
2|0 %3
Z|l0 83
o) g%
g
=N

NV

_/




